Unit 6 Notes 1st hour.notebook April 16, 2013

Hypothesis Testing

Hypothesis testing is used to compare two groups statistically.

Here are the steps involved in hypothesis testing:

1. State the hypotheses.
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2. Choose the appropriate test.
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3. Find and interpretp.
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4. State your conclusion.
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Ex 1 A certain type of pain reliever states that it contains 325 mg
of acetaminophen in each ounce of the drug. 70 one-oumnce
samples are tested for acetaminophen and it 1S determined
that the mean 1s 319 mg with a standard deviation of 26
mg. Test the claim that the sample mean 1s 325.

. =325
1. State the hypotheses. Hc Y 3

2. Choose the appropriate test. =_tes ¥

3. Find thep value. P - .Oq"l

4. State the conclusion. D o N 0*,, {,ed’ HO
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Ex 2 A vote is to be taken to determine whether casino gambling
should be legalized. To determine if there is a significant
difference in the proportion of urban and rural voters
favoring the proposal, a poll is taken. If 123 of 210 urban
voters favor the legalization, and 244 of 515 rural voters
favor it, is there a significant difference in the proportions?

1. State the hypotheses. HO: F v = P R

Hat Po” P

2. Choose the appropriate test. - p(OV' ‘2—‘,’6§+
3.  Find the p value. = .00(4

4. State the conclusion. KQ )C 4«\’ ‘HD
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